Table S5 Intercrossability of parents of several incompatibilities.
	
	Uk-1
	Uk-3
	Mir-0
	Se-0
	Bla-1
	Hh-0
	Shahdara
	KZ10
	Mrk-0

	Uk-1
	 
	I (III)
	C
	C
	C
	C
	C
	C
	C

	Uk-3
	 
	 
	C
	C
	C
	C
	C
	C
	C

	Mir-0
	 
	
	 
	I (I)
	C
	C
	C
	C
	C

	Se-0
	 
	
	
	 
	C
	I (I)
	C
	C
	C

	Bla-1
	 
	
	
	
	 
	I (II)
	I (II)
	C
	C

	Hh-0
	 
	
	
	
	
	 
	C
	C
	C

	Shahdara
	 
	
	
	
	
	
	 
	C
	C

	KZ10
	 
	
	
	
	
	
	
	 
	I (III)

	Mrk-0
	 
	 
	 
	 
	 
	 
	 
	 
	 


C = compatible, I = incompatible (“class” in parentheses).
